AP Révisions 2nde

Exercice 5| Factorisation par facteur commun

Exercice 1 Fractions

2 oo A=(1-2)?=7(1-2) = (1-2)(1-2)-T(1-2) = (1-2)(1-2-7) =| (1 = 2)(-6 — 2) |
——92 = _ —

A:215_i:%:1—252><¥: ;2;;2: % B =T7x(3 - 52) — (3 52) =| (3 - 52)(Tx — 1)
510 10 C=(2-2)+322-2)=(2-2) x 1+32(2—2) =| (2 - 2)(1 + 32) |

B 10 (g—2>2—10x (_79)2_10>< %: % D=2z+1)2-2)+3(z+1) = (z+1)(22—2))+3(x+1) = (z+1)(4—22)+3(z+1)

D=(z+1)(4-2x+3)

Puissances D:‘(x+1)(7—2x)‘
A=3-5x2=3-5x8=3-40=[-37 E= 62"+ dv = |2(-6z +4)
B:37:35><32: F=2a®—7a%>=|a?*(2a—-7)
C=6°+6*=6*x(6+1)=[6*xT7

@+
Racines carrées

-5 -2 ” : _
AZ\/%Z\/M: Résoudre : x3 =+ Résoudre : = —42%2 =10
z(l—4z) =0
B=4V/18=4y/9x2=4x3V2=]12V3 5(r —5)=-2x3 ( )
=0 ou 1—4x=0
C=TVZx4VZ=28x (v2)" =28 x 2 =[56] bz — 25 = —6
1
2
D=7-(5/3)"=7-25x3=7-75=68] 5z = 19 =0 ou &=
E=+5(V2+3V5) =v104+3x5=15++10 19
(VB 008) = T+ 0 x5 = [T -
F=(5-4v3)2=25-40v34 16 x 3 = 25 — 40v/3 + 48 = | 73 — 40/3
= —_ = _2
G=3VT-V7 Résoudre : 7x+4:—5x
Développement _T%+5x:_4
A= =22 —6(—4+ 32%) = =22 + 24 — 1822 = | —182% — 20 + 24 3Br
7
B =5(=2x + 7)(x — 2) = 5(~22% + 4z + T — 14) = | ~1022 + 55z — 70|
33x = —28
C=2z—(5—2)(=2+5x) =22 — (=10 + 25z + 22 — 52?) = 22 + 10 — 272 + 522 53
C — 522 — 252 4 10 T =53
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